
Operat ing Instruct ion

Full Cage 
(for Sony Alpha 7R V / Alpha 7 IV / 
Alpha 7S III / Alpha 1 / Alpha 7R IV)



In the Box
× 1Guarantee Card × 1Cage

SmallRig Full Cage for Sony Alpha 7R V / Alpha 7 IV / Alpha 7S III / 
Alpha 1 / Alpha 7R IV 3667B is designed to provide accessory mounts 
and protect camera. It lock camera via one bottom locating pin, one 
1/4"-20 screw and the one M2.5 screw on the left side. The side lock 
adapters need to be adjusted the installation direction for fitting 
different camera types, printed with “A7 IV”is for Alpha 7 IV and Alpha 
7R V while printed with “A7S III/A1”is for Alpha 7S III / Alpha 1 / Alpha 
7R IV. Built-in all-round protective spacers prevent the camera from 
being scratched. The cage gives access to interfaces, dials, buttons or 
battery door. There is a spindle spanner at the battery compartment 
which fits camera curve and leave room for little finger for comfortable 
grip. 1/4"-20 threaded holes, ARRI 3/8" -16 locating holes and cold shoe 
mounts support top handle 2165C, side handle 2093, monitor mount 
2903, microphones, LED lights, monitors, etc. Bottom OD socket support 
QD shoulder strap. Arca-Swiss quick release plate at the bottom is 
compatible with DJI RS 2 / RSC 2 / RS 3 / RS 3 Pro,  the quick release 
plate (riser plate) of DJI RS 2/RSC 2 stabilizer for stabilizer shooting, 
and Arca-Swiss quick release plate 3154. Optional HDMI Cable Clamp 
3000 works with Alpha 7R V / Alpha 7 IV / Alpha 7S III to protect 
interfaces and ensure stable signal transmission during filming. Holes 
on the sides and bottom of the cage allow attaching such accessories 
as hand strap PAC2456 and shoulder strap PSC2428. Besides, the cage 
comes with a built-in magnetic spanner that facilitate disassembly and 
assembly.



Safety Guidelines
1. Environment
Do not use the product underwater, in extreme temperatures (e.g., freezing or 
direct heat), corrosive environments, or excessive dust. Dry metal parts 
immediately after liquid contact to prevent corrosion.
2. Load Capacity
Do not exceed the maximum weight capacity indicated on the product. 
Overloading risks structural failure, deformation, or accidental drops.
3. Cleaning & Maintenance
Clean surfaces with a dry, soft cloth. Avoid chemicals like alcohol or solvents. 
Ensure dry and ventilated conditions for long-term storage.
4. Structural Integrity
Do not modify the product (e.g., drilling, cutting)—this compromises structural 
integrity and increases drop risks.
5. Malfunctions
Stop use immediately if you notice deformation, unusual noises, or loose 
components, and contact support.

Product Details

Note：After fixing the bottom 1/4"-20 screw, please take out the 
            anti-deflectionbesidethe battery compartment from the 
            temporary storage holeand fix it to the correspondinposition





All-round Protection



Specifications

Compatibility

Product Dimensions: 146 x 107.6 x 64.5mm
Package Dimensions: 165×155×85mm
Product Weight: 180 + 5g
Package Weight: 286 + 5g
Material(s): Aluminum Alloy, Stainless Steel, Silicone



Manufacturer Email: support@smallrig.com
Manufacturer: Shenzhen Leqi Innovation Co., Ltd.
Add: Rooms 101, 701, 901, Building 4, Gonglianfuji Innovation Park, No. 58, Ping'an Road, 
         Dafu Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

Consignor: Shenzhen LC Co., Ltd.
Add: Room 201, Building 4, Gonglianfuji Innovation Park, No. 58, Ping'an Road, 
         Dafu Community, Guanlan Street, Longhua District, Shenzhen, Guangdong, China.

FR

Papier 5


